
Write the number represented by the number discs.

The number is                                             .

the digit 6 is in the                                            place.

the digit 3 is in the                                            place.

the digit 0 is in the                                            place.

the digit 4 is in the                                            place.

the digit 8 is in the                                            place.

18 × 28 =          ÷ 6

What fraction of the shapes in the box are         s?

(1)                             (2)                          

(3)                             (4) 
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What is the missing number in the box?

(1) 84                            (2) 168                            (3) 504                             (4) 3,024

?

Fill in the blanks. In the number 63,048
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1,000 100 10
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For the answer key, go to
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The pattern below is not symmetrical. Shade two more
squares to make it symmetrical.

Draw and label a square on the square grid. A side of the square has been drawn for you.

Square PQRS.

Sam spent             of his money on 2 watches that cost the same price. He had $48 left.

How much did each watch cost?

Susan and Mary had some money. When Susan spent            of her money and Mary spent

        of hers, each of them had $26 left. What was the original sum of money each girl had?

3
5

1
2

3
4

6

7

8

Personalized 
Progress Reports

Research Proven
Curriculum

Fun, effective math.
Scan for your FREE trial class.

Gamified
Learning

5

P

Q

http://sparkedu.com/

